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Chapter 2 Review of Fractions

Section Exercises

2-1,p.49
1. proper 2. improper 3. improper 4. proper 5. proper 6. improper
(ANE 8. 15 9. 1 0. 53 1. 2 12. 242
7)12 20)21 18)18 N7 8)16 16)387
7 20 18 16 32
! AV 14 24
5 1 3 67
64
3
13 1’300—£—lih 14 1,500_2_11h
* 1,000 =70~ phones per person * 1,000 =5=1 phones per person
25 137 7
15. (4X6)+1:25;7 16. (5X27)+2:<135)+2:137;T 17. (3><2)+1=7;§
19 13 20
18. (5% 3) +4=19—+ 19. (8% 1) +5 =13 20. (3% 6) +2 =20,
12 +3 12+4 3 18+-6 3
21. =— 22. =— 23. =—
15+3 5 204 5 24 -6 4
18 =1 1 24 =12 2 13 =1 1
2, 3218 _1 ag, 224712 _2 s 3513 _ 1
36 - 18 2 36 +12 3 39+13 3
400 million 2 4,000 million 1 2
27, —————— = 28, ————————— = — 29.
9,000 million 45 8 24,000 million 6 SR
3X2 6
8 X2 16
4 4 3
30. 5% 31. SE 32. 9E
4xX4 16 3xX4 12 5X3 15
5X4 20 8§ X4 32 9 X3 27
5 3
33. 315 34. SE
IxX5 5 3X3 9
3 x5 15 5X3 15
2-2, p. 56
1 7 5 25
1. — 2. - 3. - = —
9 8 6 30
2 5 7 14
- + = +— = —
9 8 15 30
5 12 4 39 9 3
+ = —=1-=13 —=1—=1=
_9 8 8 30 30 10
8
9
8 Chapter 2
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5 15 5 10 5 20
. Z = = 5 = = 6. = 23
4 8 24 46 1 B0 348
7 14 6 7 21
S 47— = +7— +48—— = +48°—
D 24 2 12 16 48
29 5 16 4 1 41
- 5 =125 = 123 T
5 20 7 7 7 21
7 51— = 51=— L= 5L 9o L - 2
1 72 8. 51, D 8 24
3
r862 — +562 ST 3,3
24 72 4 12 24 24
13747 102 = 8 tot - 4ot
72 3 12 6 24
18 6 28
— I el §— =9— = 9—
0= =1 24 Y
5 20 7 8
10. 3> = 3= 11. - 12. >
9 36 8 9
1 3 3 2
5—= 5 — = - =
12 36 8 9
2 24 4 1 6 2
422 = 422 == 2z
3 36 8 2 9 3
4 11
1027 _ L
36 36
3 21 2 4 9
3. = = 4. 9= 99— 1 = 14>
4 28 3 %6 5 15 9
5 20 1 3 7 7
-t == —6-=— 6> —12- = —12~
7 28 2 6 9 9
1 . )2
28 6 9
3 6 16 8 32 1 3 27
16. 212 = 21— = 20— 17. 15— = 15—= 18. 23— =23— =22-~
6 5 10 070 15 %60 8 3 304 24
7 7 7 5 25 7 14 14
270 129 270 12 60 12 24 24
9 7 13
8— 8— 22—
10 60 24
1 1 6 3 3 5
19. 8- 20. 12— = 11— 21 11> + 11> + 18> =
3 5 5 4 4 8
=5 6 6 5 17
1 L. 11—+ 11— + 18> = 40— =
33 5 5 8 8 8 8
42 1L yard
5 8yar S
3 5 3 3 3 3 5 5 5
22. 42> + 37>+ 12> + 23~ = 23. 10—+ 10— + 12= + 12= + 12>
8 8 8 4 3 0y + 10 8 8 8
3 5 3 6 5 1 1
42> + 37= + 12> + 23— = + 12>+ 8 + 8- =
8 8 8 8 8 2 M2
17
1147~ 1162 feet 10E + 10E F122 4122 402
8 8 8 8 8 8 8
122+ 82 18t — 8420 L g e
g %8s °% 8 e
Chapter 2 9
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4 4 4 1 1
24.4f+4—+4—+7§+7§= 25.45—42f=44§—42f=
5 5 5 8 8 8 8 8
32 32 32 15 15 7
4% + 45 + 45 + 7% + 7% = 2§ yards; she can use the fabric.
126 3
26—— = 29— inches
40 20
4 1 1 1 1
26. 12 — 10é = 11— — 10é = ] feet 27. 13*5 - 12é = 13*5 - 12£ = 1ifeet
4 4 4 4 16 8 16 16 16
1 5 9 5 4 1
14— —12—=13—— 12— = 1— = 1— feet
8 8 8 8 8 2
5 8 5 3
14 — 12— = 13— — 12— = 1— feet
8 8 8§ 8
13 5 13 10 3
13— — 12— = 13— — 12— = 1— feet
16 8 16 6 16
28 8é + 8é 16E =17—=17—-
4 4 4 4 2
36 — 17l = 35g - 17l
2 2 2
= 181' h
= 187 inches
2-3, p. 63
3
! 5 1 5 23 35 805 13
L343 e T i 4G =0
§75 10 g 1
12 5 1 1 4 39 7 27 8
5. — 6. — 7. — 8. — 9, 5—-=—; — 10. 3— = —;
7 3 9 12 7 7 39 8 27
5 3 5 élt 5 3 9 2; lz(i 2 1 12 8 ,13& 7 21 1
11. -+ —==-X — = — 12. -+ —==-X —=— 13.2—-+1l-=—+—-=—X—-—=—=2—
8 4 223 3 6 5 10 ? % 5 5 7 5 22§ 10 10
1 2 21 8 21 3 63 31 3 3 5 3 1 3
4. 5-+2-=—+—-=—X—-=—=1— 15. —+=5=—+—=—-X—-=—
4 3 4 3 4 8 32 32 4 1 4 5 20
25
1 75 9 75 8 3 39 200 4 800 20
16. 75 + 1- = — + — = — X — 17. 200 -9— =200+~ — = — X — = — = 20—
81 8 19 4 41 739 39 39 10O
200 2
= —— = 66—, or 67 sheets
3 3
3 35 4§(’J 4 32 4 1 21 231’ 2
7
18. 40 + 8— =40+ —=—X —=—=4—4Db 19. 2] =+ 3—=—+—-=—X==6
4 413;5770Xes 271 2177
Theoretically, 6 cabinets will exactly fit on the wall.
1 1
5 4 149 149 1 1 4 33 33 1
20. 4 X 18— = — X — = — = T74—feet 21. 4 X 4— = — X — = — = 16—feet
8 1 £2§ 2 2 8 1 £2§ 2 2
Yes, if no more than a total of% inch is needed for
spacing between the desks.
22 31><2 B2_0B 61'h1
. 3= =—X—-=—=06=in n
4 4 71 o T Dpmmciesong
28 + 2 = 14 inches wide
65 inches long X 14 inches wide
10 Chapter 2
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Exercises Set A, p. 69

1.

3.

12.

15.

18.

21.

23.

25.

28.

31.

34.

375 100 41

Examples will vary. —, —, —, ——

57978 301" 53

202
3

6X5 +5 35
6 6
15+3 5
18+-3 6
5%x2 10
6x2 12
15 3

1
= = — Zofth 1
05 21 7° the employees

215 10 6
H 5 53
515 5 1

11 11
2 X3X5=30

1.3 4 3 7
—+4S=T-+ 45 =11
Tty T g g T

3 5 8
12—+ 16— =28—=2
P 68 88 9 yards

4 8
T—= T—
5 10

1
VL
2 10
3
37
10

; fracti 2. Examples will vary. 2,5, 22,222 7.4 fracti
; proper fractions . Examples will vary. 5 4 89" 1,1mproper ractions
4. 7 5. 1
Si
2
L Bx4H+1 13 g (%3941 _ 100
’ 3 3 ) 3 3
10.20+10:z 11.30+6:§
30 ~ 10 3 48 ~ 6 8
X X
3, 224 20 1, 228 17
8 X 4 32 11 X 13 143
2
16. 4 12 16 17. 2)56 24 12 42
22 6 8 2)28 12 6 21
)1 3 4 )14 6 3 21
21 3 2 3)7 3 3 21
31 3 1 7H7 1 1 7
1 1 1 1 1 1 1
2X2X2X2X3=48 2X2X2X3X7=168
4 2 2 2
9.3 472 20 24206 10 16 1
5 5 5 5 5 3 15 15 15 15
5 2 5 4 9 3 1
22. 11=-+8==11-+8==19—=20— = 20—
6 3 6 6 6 6 2
u > 3_2_1
12 12 12 6
5 5 5
26. 5 = 4— 27 4— = 4—
5 6 6
52 _ 42 Ll g2
5 75 76
5 6
5 5 2 10 1
29. — LS X S =— =3
18 301 3 3 33
32. 8 33. 4
5
1
35. 3 1 3 4
—+—-=-X=-=3
474 471
Chapter 2 1"
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2
11 2 11 22 2 4
36.71—2=£+g=£><l=£=3é 37.3-+5-=—+—=—X_-==
2 2 71 272 4 7772 7 70T
4 5 3 1 5 6 1 10 5 1
5 244 61 244 8 39 242 —— =242 - == =2 |—inch
38 244 + 72 =0 2 2 2T 0 ® L 3 ieces 8 4 8 8 8 8 8 4 4me
81 T8 1 Tef
> 1% I3 1 22 $28%
40. = X — = 12 hours 41. 1 —— == ——=="X — = $192
37 303 03 337 1
Exercises Set B, p. 71
3% 203 7 155
1. 15)52 2. 4)83 3. 11)77 4. 10)19
45 8 7 10
7 3 9
0
3
s BXD+3 59 Gx10)+1 51 S 1852 9 g 2159 _3
' 8 8 ) 5 5 "20+2 10 "36+9 4
18 = - X X
g, 879 _2 10, 376 _13 X9 _9 2 2x7_28
63+9 7 9 + 6 16 9x9 81 7X7 49
B8 _ 4 14. 2)820 16 15. 2)89 1224
30 15 0t theclass 2)410 8 2)49 612
22 5 4 229 3 6
)l 52 3)19 3 3
S)L 5 1 HI3 11
111 1111
2X2X2X2X5=280 2X2X2X3X3=T72
)12 15 7 1 8 1117
16. 17. -+ - =-=1 18—+ —+ — =
2) 615 8 8 8 4 12 16
3) 315 12 4 2 _7_ 2
5)% 48 48 48 48 48
2X2X3X5=60
1 1 5 3 1 3 3 4 6
19.3— +2- +3>= 20. 55+ 7=+ 9> =5+ 7 +9_
4 3 6 g8 2774 T8 '8 78
3 4 10 13 5
3> 42— 43— = =21— =22
2 12 12 8 8
17 5
8— =9
2 12
a2 25 2 ab- 4l - 32
7 14 14 14 2 14 14
7 1 6 12 12
— == —3— = 3= = 3=
14 2 7 14 14
9
14
12 Chapter 2

EQA



M02_CLEA8261_09_ISM C02.gxd 4/27/11 3:51 PM Page 13 $

8 1 2 12
23. 12 = 11— 2. 4—- = 4—= 3—
8 5 10 10
1 1 3 3 3
8 8 210 210 10
7
7— 1i
8 10
3 3 2 27
25. 71— = 7— = = 26. —
1 1 40 392 40
1 2 1 1
5—= 5— —37— = —37—
) 1 372 372
Al
4 4 2— hours
ol _ ol
4 4
3 3
8— = 8—
4 4
10 2 1 .
35— = 37— = 37— hours Maxine Ford worked
4 4 2 2lh
5 hours more than
George Mackie.
9 2 5 3 3 YO
3 8 24 3 1 5 2 v
27. =X — = — =3= 28, — X — X =X == — L 10- X 12 =2 x 2= =
7 1 7 7 ww 5 9 7 35 2 102 17 2 7 18
5 1 1 1 1
2 3 32 3
3 81
30. 10— X —=— X — = 4 cak - L8 =
3 %3 21{ 21; cakes 31 > 32. 8 '3
4
3 19 8 1 61 12 5 1 5 8 20 2
33. 2— = —;— 4. 5-—=—— 35, -+ —==—X—-—=—=6—
8 8 19 12 12" 61 6 8 ? 1 3 3
3 ,lfS’ 4
1 2 15 5
36. 15+ —=—X=-=20 7. 71—+~ 1-=—+ —
4 1 ? 3 2 3 2 3
3
5391
2 Zl'f 2 2
5 91 13 971’ 8 1 3 1 4 15 10 29 9
3. 91 + 1-=—+ —=—X — =56 pi 39, |- 4+2=+1-=1—+4+2—+ 1—=4— = 5— feet
8718 1.8 pleces 57472 20 720 20 "20 T20 ¢
21§ 13
3 16 3 13
40. 8 —2—=7——2— = 5— feet 41. 8§ X 1= =—X — = 13 feet
6 16 16 16 178 e
Practice Test, p. 73
1
Ll 2.2 3.10=82
5 3 5 58
12 +3 4 15 =+ 21 + 7
4. =— 5. > 5:2 6. 3
153 5 355 7 51+3 17
8 X2)+5 + 12 X 3)+ 1 + 3 _ 5l
7. 8) :1685:2271 5 12) :36121:% 9. 2= %
9)21
18
3
Chapter 2
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10.

13.

16.

19.

21.

44 m 5 _4_1
13)56 6 6 6
52
4
5 7 35 7
S, 37 P
8 10 80 16 6 4
5 4 10
— X — = —
6 3 9
56><32§— 17 21+31—
) 7 T2 3
56 230 3.2
7D o 22V 2—+3— =
| X 7 = 1,840 6 6
1
3 .
5 = entire load
3 1 2 3
— — — = — Part of the — truckload to be unloaded
3 3 3 4
1 1
2 3 1 .
g X Z = 5 of the truckload remains to be unloaded
1 2
1 5
62—+ - =
2 8
125 .5 _
2 8
25 8
— X =-=1 h
% 21_{ 00 sheets

Critical Thinking, p. 75

1.

14

The two operations that require a common denominator
are addition and subtraction.

The product of any number and its reciprocal is 1.

3
Examples will vary. 5 X 3 =1

The parts that are known must be added. The sum of the
known parts is then subtracted from the total to give the
one unknown part. Examples will vary. The deductions
for a paycheck are: Withholding tax, $261; Credit
Union, $100; Insurance, $217; and Dues, $15. The
Social Security tax is not known. Find the Social Secu-
rity tax if the deductions total $680.

Chapter 2

57

120,92 36 _6_ 21
8 10 40 40 40 40
1 3
15. 10- = 5= =
2 4
21 23 _
2 7 4
2
21 4
— X — =
2 723
1
2 _ .11
23 23
18 B7—@i—
) 5
5 4 1
136> — 89— = 47—
5 5 5
20 S _ 3
580 20

1 1
22.5-% +2-%
2 4

520 + 219 = 729,
47 Ty Ty

. The number 1 can be written as any fraction that has a

. 21
denominator and numerator that are the same. E =1

. Division requires the use of the reciprocal of a fraction.
3 8 3_15 45
An ill vary. O leis:— +~— ==X — = —
swers will vary. One exampleis: - + === X~ 56

. To find the reciprocal of a mixed number, first change the

mixed number to an improper fraction by multiplying the
denominator by the whole number and adding the numer-
ator to get the numerator of the improper fraction. The
denominator of the mixed number is the denominator of
the improper fraction. Then, interchange the numerator
and denominator of the improper fraction to make its
reciprocal.

3% = 13*0; reciprocal = 137)

EQA
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7. Two fractions are equal if the lowest terms of both frac- 8. Answers will vary.
i h . 1
tions are the same et axa—oa
3.2_6 2
7724 pL3_12 4 _48_
3396 _9 4173 3
73 2114 21 2 15 3 45 1
I5+—-=—X-=—=22—
3 1 2 2 2
9. A whole number, like 5, divided by a proper fraction, 10. A proper fraction has a value that is less than 1 and an

like %, means the wholes are being broken up into halves,
so you have more parts (pieces) than you started with.

5+1=3x2=10.

Challenge Problem, p. 75

1 3 51 131
25— X 32T =" X ——
52 3 4 2 4
= 0081 _ g5t feet
= ] = 3 square 1ee
6,681 6,681 1 6,681
-0 =—X —=
8 8 9

Case Studies
2-1, p. 76

1L 2i=3
%(%) — 270 = 10 cups apples
%(%) cup = % = 1}1cups brown sugar
%(%) tsp = % = 1% tsp cinnamon
% (%) tsp = %tsp each nutmeg/cloves
3(1) 1sp = ' = 5 tsp lemon juice

2. 4cups + 4cups = 8cups apples

; cup + %cup = 1 cup brown sugar
1

S tsp + %tsp = 1 tsp cinnamon

% tsp + %tsp = % tsp each nutmeg/cloves

2tsp + 2tsp = 4 tsp lemon juice

3. % cup <%) =
2 1

%
Jap(}) = ¢

2-2,p.71

1 B+2+12+15 _ 32 1

square yards

equal to 1.
6,681 1
= 9279
72 24

Because a portion of the 93rd square yard is needed, we

improper fraction has a value that is greater than or

will buy 93 yards and 4 additional yards for matching.

93 +4 =97

; cup) = % = 1% cups sugar

2

3

1 _>s

3 tsp) = j¢ tsp salt

%cup) = % = lgcups flour
% cup) = % cup butter

1

4

cup) = %cup walnuts

N[ [ R R
W~~~ —~ —

cup + %cup = l% cup sugar

étsp + %tsp = % = %tspsalt
3

scup + Jcup = % = 1% cups flour
zcup + zcup = %cup butter
zcup + zcup = % = %cup walnuts

cup brown sugar; % (%) = % cup for all 3 batches

= %cup granulated sugar; % (%) = 1 cup for 3 batches

a1 = 21 = ; of the pieces are chocolate

4 green + 9 orange

97 X 12 = $1,164

a = 5 Less than i of the pieces are green and orange because 16 pieces would be i.

2 (32 chocolate + 6 peppermint + 6 licorice) __ 44

64 64

Close to % of the pieces are the five most popular flavors.
The Atlantic Candy Company does a good job of creating an assortment that matches the market research.

Chapter 2

— b
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3. If a 1-1b box has 64 regular-size pieces, then a % -1b box would have 32 regular-size pieces (% = 32).

If we want the pieces to be double size and there are 32 regular-size pieces in a % -1b box, there will be 16 double-size
pieces in each special holiday gift box. (% = 16).

4 16 pieces

* 3 flavors

There would be 5 pieces of two of the flavors and 6 pieces of one of the flavors.

= 5% pieces of each flavor (which is impossible).

2-3,p.71
1 $240,000 1 $240,000 )
1. $240,000 X 5 = —1 X > = s = $120,000 materials

1 $240,000 1 $240,000

$240,000 X — = —— X — = —— = $80,000 labor
3 1 3 3

$240,000 — ($120,000 + $80,000) = $40,000 profit M = 1f ti f cost

, ( , ,000) = ,000 profit or 240,000 =% raction of cos

2. 400 ft X 400 ft = 160,000 square feet.
40,000 1 5000 1 10,000 1 80,000 1

160,000 4 160,000 32 160,000 16 160,000 2

3. 160,000 — (40,000 + 5,000 + 10,000 + 80,000) = 25,000 square feet

25,000 5. . .
= —is the portion that remains for a water garden
160,000 32

16 Chapter 2



